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On	this	page,	you	can	practice	solving	three	types	of	basic	percent	problems:	Find	a	percentage	of	a	quantity,	such	as	20%	of	120.	Find	the	percentage	when	the	part	and	total	are	given.	For	example:	What	percent(age)	is	15	of	60?	Find	the	total	when	the	percentage	and	the	part	are	given.	For	example:	If	15%	of	a	number	is	30,	what	is	the	number?
These	basic	percentage	exercises	can	be	practiced	on	three	different	difficulty	levels.	Level	1	is	meant	to	be	so	easy	that	you	can	use	mental	math.	The	script	will	only	use	percentages	that	are	multiples	of	10,	such	as	20%,	30%,	40%,	etc.,	plus	5%,	25%,	75%,	and	200%.	The	totals	are	also	easy	numbers,	to	keep	everything	simple.	Levels	2	and	3	don't
use	such	restrictions.	Level	3	uses	tenth	of	a	percent.	You	can	also	choose	timed	or	untimed	practice,	and	the	number	of	practice	problems	for	your	quiz.	The	"Generate	Quick	Link"	feature	allows	you	to	make	a	link	for	specific	options	that	you	can	then	send	to	students.	Level:	1	2	3	Question	types:	Find	p%	of	x.	What	percentage	is	x	of	y?	If	p%	of	a
number	is	x,	what	is	the	number?	OR	Practice	for	a	set	time:	min	Screenshot:	Generate	Quick	Link	for	Specific	Options	Question	1	:In	a	college,	60	students	enrolled	in	chemistry,40	in	physics,	30	in	biology,	15	in	chemistry	and	physics,10	in	physics	and	biology,	5	in	biology	and	chemistry.	No	one	enrolled	in	all	the	three.	Find	how	many	are	enrolled
in	at	least	one	of	the	subjects.Solution	:Let	C,	P	and	B	represent	the	subjects	Chemistry,	Physics	and	Biology	respectively.Venn	diagram	related	to	the	information	given	in	the	question	:	From	the	above	Venn	diagram,	number	of	students	enrolled	in	at	least	one	of	the	subjects	:=		40	+	15	+	15	+	15	+	5	+	10	+	0=		100So,	the	number	of
students	enrolled	in	at	least	one	of	the	subjects	is	100.Question	2	:In	a	town	85%	of	the	people	speak	Tamil,	40%	speak	English	and	20%	speak	Hindi.	Also	32%	speak	English	and	Tamil,	13%	speak	Tamil	and	Hindi	and	10%	speak	English	and	Hindi,	find	the	percentage	of	people	who	can	speak	all	the	three	languages.Solution	:Let	A,	B	and	C	are	the
people	who	speak	Tamil,	English	and	Hindi	respectively.Number	of	people	who	speak	Tamil	n	(A)		=		85Number	of	people	who	speak	English	n	(B)		=		40Number	of	people	who	speak	Hindi	n	(C)		=		20Number	of	people	who	speak	English	and	Tamiln	(A∩B)		=		32Number	of	people	who	speak	Tamil	and	Hindin(A∩C)		=		13Number	of	people	who	speak
English	and	Hindi		n(B∩C)		=		10Let	x	be	the	number	of	people	who	speak	all	the	three	language.	Total	number	of	people	=	100		=		40+x+32–x+x+13–x+10–x–2+x–3+x	100		=		40+32+13+10–2–3+x	100		=		95–5+x100		=		90+x		x		=		100-90x		=		10%Question	3	:An	advertising	agency	finds	that,	of	its	170	clients,	115	use	Television,	110	use	Radio
and	130	use	Magazines.	Also	85	use	Television	and	Magazines,	75	use	Television	and	Radio,	95	use	Radio	and	Magazines,	70	use	all	the	three.	Draw	Venn	diagram	to	represent	these	data.	Find	(i)	how	many	use	only	Radio	?(ii)	how	many	use	only	Television	?(iii)	how	many	use	Television	and	Magazine	but	not	radio?Solution	:Let	A,B	and	C	are	the
people	who	speak	Television,	Radio	and	Magazines	respectively.Number	of	people	who	use	Television	n(A)		=		115Number	of	people	who	use	Radio	n(B)		=		110Number	of	people	who	use	Magazine	n(C)		=		130Number	of	people	who	use	Television	and	Magazinesn(A∩C)		=		85Number	of	people	who	use	Television	and	Radion(A∩B)		=		75Number	of
people	who	use	Radio	and	Magazinen(B∩C)		=		95Number	of	people	who	use	all	the	three	n	(A∩B∩C)		=		70	(i)	Number	of	people	who	use	only	Radio		=		10(ii)	Number	of	people	who	use	only	Television		=		25(iii)	Number	of	people	who	use	Television	and	Magazine	but	not	radio		=		15	Related	Pages	Kindly	mail	your	feedback
to	v4formath@gmail.comWe	always	appreciate	your	feedback.	©All	rights	reserved.	onlinemath4all.com	Percentage	Question	with	Solution	Free	PDF	for	SSC,	Railway	&	Banking	Exam	–	Download	Free	Now	Percentage	Question	PDF	with	Answers	for	government	exams	like	SSC,	Railways,	Banking,	FCI,	CWC,	Insurance	Exams,	UPSC,	and	other	state
PCS	exams.	As	we	all	know	in	many	competitive	exams	in	Quantitative	Aptitude/	Numerical	Ability	subject	Percentage	Questions	asked	repeatedly,	so	you	cannot	ignore	the	Percentage	Questions	PDF.	As	questions	are	based	on	previous	year	papers,	there	are	chances	that	candidates	will	find	many	questions	from	the	Percentage	Questions	with
Answers	PDF	in	all	competitive	Exams.	If	you	check	the	last	4-5	year’s	papers	of	SSC,	Railways	and	Banking	Exams,	you	will	find	that	many	different	types	of	Percentage	questions	are	asked.	Today	we	have	compiled	“450+	Percentage	Questions	PDF	with	Answers	for	SSC,	Railway	&	Banking	Exam”.	You	can	download	Free	Percentage	Questions	with
Solution	so	that	you	get	all	the	important	questions	at	one	place.	And	it	will	become	very	easy	for	you	guys	to	revise	them.	Percentage	Questions	PDF	for	SSC,	Railways	and	Banking	Exams	The	ultimate	way	to	begin	Numerical	Ability	Preparation	is	to	have	the	best	Quantitative	Aptitude	practice	questions	in	your	PDF	Drive.	To	ease	out	your
preparation	and	save	you	a	lot	of	time,	At	Let’s	Study	Together	(LST)	we	understand	our	student’s	requirements	and	keeping	it	in	mind,	So	LST	Team	has	compiled	the	Percentage	Questions	PDF	for	SSC,	Railways	and	Banking	Exams	with	Detailed	Answers’.	Get	some	relevant	as	well	as	reliable	study	material	that	will	guide	you	well	throughout	your
exam	preparation.	You	can	download	the	Percentage	Questions	with	Solution	so	that	you	get	all	the	important	questions	at	one	place.	And	it	will	become	very	easy	for	you	guys	to	revise	them.	Percentage	Questions	with	Answers	|	Download	Free	PDF	What	is	Percentage?	Percentage	is	basically	the	ratio	of	the	value	of	a	particular	quantity	to	its	total
value	multiplied	by	100.	It	is	generally	a	way	of	expressing	something	as	per	100.	Further,	in	this	article	we	will	look	at	various	scenarios	for	which	we	will	find	the	percentage	and	learn	the	steps	to	solve	word	problems	based	on	percentage.	The	Percentage	is	a	relative	value	that	indicates	the	hundredth	parts	of	any	quantity.	One	percent	(1%)
represents	the	one	hundredth,	2	percent	(2%)	represents	two	hundredths,	100%	represents	the	whole,	200%	twice	the	given	quantity	and	so	on…	For	example	–	1	percent	of	1000	mangoes	is	equal	to	1/100	of	1000	or	10	mangoes.	Percentage	Formula	We	should	know	the	percentage	formulas	to	calculate	the	percentages.	The	basic	formula	used	to
calculate	the	percentage	is	equal	to	the	ratio	of	actual	value	to	the	total	value	and	multiply	it	by	100.	The	formula	of	the	percentages	expressed	as-	Percentage	Calculation:	Percentage	=	(Part	/	Whole)	×	100%	Percentage	Change:	Percentage	Change	=	((New	Value	–	Old	Value)	/	Old	Value)	×	100%	Percentage	of	a	Number:	Percentage	of	a	Number	=
(Percentage	/	100)	×	Number	Percentage	Profit	and	Loss:	Percentage	Profit	=	((Selling	Price	–	Cost	Price)	/	Cost	Price)	×	100%	Percentage	Loss	=	((Cost	Price	–	Selling	Price)	/	Cost	Price)	×	100%	Discount	Percentage:	Discount	Percentage	=	(Discount	/	Marked	Price)	×	100%	Simple	Interest:	Simple	Interest	=	(Principal	×	Rate	×	Time)	/	100
Percentage	Increase	(%	Increase)	=	(Increase	in	value	/	original	value)	×100Here,	Increase	in	value	=	New	value	–	original	value.	Percentage	Decrease	(%	Decrease)	=	(Decrease	in	value	/	original	value)	×100Here,	Decrease	in	value	=	Original	value	–	New	value	All	the	Percentage	questions	are	formulated	as	per	the	level	of	Bank	PO	exams.	The
Percentage	questions	in	this	PDF	has	a	moderate	and	hard	level	of	difficulty.	All	the	candidates	who	are	preparing	for	banking	exams	are	advised	to	practice	all	these	important	questions	to	score	well	in	the	exam.	To	remove	any	doubt	or	difficulty	in	any	topic,	go	through	the	study	notes	of	each	topic	from	the	links	given	above.		Read	Also:	Attempt
1000+	Topic-Wise	Quantitative	Aptitude	Questions	Here	Why	Quantitative	Aptitude	Percentage	Questions	PDF	is	Important	for	Exams?	All	the	questions	are	prepared	by	Exam	experts.	The	practice	questions	covered	are	across	the	levels	i.e.	Easy,	Moderate,	and	Difficult.	Provides	a	detailed	approach	to	the	solution	of	each	question.	Focuses	on	all
the	new	patterns	and	advanced-level	type	questions.	Percentage	Questions	PDF	boosts	confidence	and	reduces	pre-exam	jitters	by	regularly	attempting	a	variety	of	questions	and	tackling	the	difficulty	level	expected	in	the	final	exam.	This	Quant	Booster	Dose	Percentage	Questions	PDF	is	useful	for	the	upcoming	Banking	and	Insurance	exams	i.e.	IBPS
PO,	SBI	PO,	Clerk,	IBPS	RRB	PO	&	Clerk,	RBI	Assistant,	RBI	Grade	B,	NABARD,	LIC	AAO,	SSC	(CGL,	CHSL,	MTS,	CPO,	and	Constable),	Railway	RRB	(NTPC,	Group	D,	JE,	ALP)	&	Other	Government	Exams.	8700+	Quantitative	Aptitude	Topic-wise	Questions	and	Answers	–	Download	Free	PDF	Quant	Booster	Dose	–	Topic-wise	Quantitative	Aptitude
Questions	and	Answers		Percentage	Questions	with	answers	are	provided	here.	Students	can	practise	these	questions	based	on	percentages	to	prepare	for	the	upcoming	exams.	These	percentage	problems	are	prepared	by	our	subject	experts,	as	per	the	latest	exam	pattern.	All	the	materials	here	are	formulated	according	to	the	NCERT	curriculum	and
the	latest	CBSE	syllabus	(2022-2023).	Learn	How	to	Calculate	Percentage	here	at	BYJU’S	with	easy	steps.	Definition:	Percentage	is	derived	from	the	Latin	word	“per	centum”.	It	means	by	the	hundred.	It	is	denoted	by	%.	If	we	say,	5%,	then	it	is	equal	to	5/100	=	0.05.	Percentage	Questions	and	Solutions	Q.1:	A	fruit	seller	had	some	apples.	He	sells
40%	apples	and	still	has	420	apples.	What	is	the	total	number	of	apples	he	had	originally?	Solution:	Let	the	number	of	apples	a	fruit	seller	had	be	x.	As	per	the	given	question,	(100	–	40%)	of	x	=	420	60%	of	x	=	420	60/100	x	=	420	X	=	700	Hence,	the	fruit	seller	had	a	total	of	700	apples	Q.2:	A	person	multiplied	a	number	by	3/5	instead	of	5/3,	What	is
the	percentage	error	in	the	calculation?	Solution:	Let	the	number	be	X.	X	is	mistakenly	multiplied	by	⅗	=	3X/5	X	should	be	multiplied	by	5/3	=	5X/3	Thus,	the	error	will	be	=	(5X/3	–	3x/5)	=	16X/15	Percentage	Error	=	(error/True	value)	x	100	=	[(16/15)	x	X/(5/3)	x	X]	x	100	=	64	%	Q.3:	If	20%	of	x	=	y,	what	is	the	value	of	y%	of	20	in	terms	of	x?
Solution:	Given,	20%	of	x	=	y	⇒	(20/100)	x	=	y	y%	of	20	=(y/100).	20	=	[(20x/100)	/	100]	x	20	=	4x/100	=	4%	of	x	Q.4:	Three	students	contested	an	election	and	received	1000,	5000	and	10000	votes,	respectively.	What	is	the	percentage	of	the	total	votes	the	winning	student	gets?	Solution:	Total	number	of	votes	=	1000	+	5000	+	10000	=	16000	The
student	who	won	the	votes	got	10000	votes	Hence,	the	percentage	will	be:	(10000/16000)	x	100%	=	62.5%	Q.5:	If	the	price	of	a	product	is	first	decreased	by	25%	and	then	increased	by	20%,	then	what	is	the	percentage	change	in	the	price?	Solution:	Let	the	original	price	be	Rs.	100.	New	final	price	=	120	%	of	(75	%	of	Rs.	100)	=	Rs.	[(120/100)	x
(75/100)	x	100]	=	Rs.	90	Therefore,	the	net	change	in	price	is	100	–	90	=	10.	Percentage	decrease	=	10%	Q.6:	The	value	of	a	washing	machine	depreciates	at	the	rate	of	10%	every	year.	If	its	present	value	is	Rs.	8748,	then	what	was	the	price	of	the	washing	machine	three	years	ago?	Solution:	Given,	Current	price	of	the	washing	machine	=	Rs.8748
The	price	of	the	machine	depreciated	at	the	rate	of	10%	every	year	Therefore,	the	price	of	the	washing	machine	three	years	ago	=	8748	÷	(1	–	10/100)3	=	Rs.	[8748	x	(10/9)	x	(10/9	)	x	(10/9)]	=	Rs.12000	Q.7:	For	a	student	to	clear	an	examination,	he	must	score	55%	marks.	If	he	gets	120	and	fails	by	78	marks,	what	is	the	total	marks	for	the
examination?	Solution:	Given,	the	mark	obtained	by	the	student	is	120	and	the	student	fails	by	78	marks	Therefore,	the	passing	marks	is	=	120+78	=	198	Let	us	consider,	the	total	marks	be	x	Then,	⇒	(55/100)	×	x	=	198	⇒	x	=	360	Q.8:	By	how	much	is	80%	of	40	greater	than	4/5	of	25?	Solution:	80%	of	40	=	80/100	×	40	⅘	of	25	=	⅘	×	25	Required
value	=	(80/100)	×	40	–	(4/5)	×	25	=	32	–	20	=	12	Q.9:	A	number	is	decreased	by	10%	and	then	increased	by	10%.	The	number	so	obtained	is	10	less	than	the	original	number.	What	was	the	original	number?	Solution:	Let	the	original	number	be	x	Final	number	obtained	=	110%	of	(90%	of	x)	=(110/100	×	90/100	×	x)	=	(99/100)x	Given	the	number
obtained	is	10	less	than	the	original	number.	x	–	(99/100)	x	=	10	Hence,	x	=1000	Q.10:	What	is	the	percentage	of	ratio	5:4?	Solution:	5	:	4	=	5/4	=	(	(5/4)	x	100	)%	=	125%.	Related	Articles	Practice	Questions	on	Percentage	What	is	25%	of	80?	What	is	the	percentage	of	50	paise	to	4	rupees?	Find	the	percentage	change,	when	a	number	is	changed
from	100	to	80.	50	is	what	percentage	of	500?	Percentage	Questions	with	answers	are	provided	here.	Students	can	practise	these	questions	based	on	percentages	to	prepare	for	the	upcoming	exams.	These	percentage	problems	are	prepared	by	our	subject	experts,	as	per	the	latest	exam	pattern.	All	the	materials	here	are	formulated	according	to	the
NCERT	curriculum	and	the	latest	CBSE	syllabus	(2022-2023).	Learn	How	to	Calculate	Percentage	here	at	BYJU’S	with	easy	steps.	Definition:	Percentage	is	derived	from	the	Latin	word	“per	centum”.	It	means	by	the	hundred.	It	is	denoted	by	%.	If	we	say,	5%,	then	it	is	equal	to	5/100	=	0.05.	Percentage	Questions	and	Solutions	Q.1:	A	fruit	seller	had
some	apples.	He	sells	40%	apples	and	still	has	420	apples.	What	is	the	total	number	of	apples	he	had	originally?	Solution:	Let	the	number	of	apples	a	fruit	seller	had	be	x.	As	per	the	given	question,	(100	–	40%)	of	x	=	420	60%	of	x	=	420	60/100	x	=	420	X	=	700	Hence,	the	fruit	seller	had	a	total	of	700	apples	Q.2:	A	person	multiplied	a	number	by	3/5
instead	of	5/3,	What	is	the	percentage	error	in	the	calculation?	Solution:	Let	the	number	be	X.	X	is	mistakenly	multiplied	by	⅗	=	3X/5	X	should	be	multiplied	by	5/3	=	5X/3	Thus,	the	error	will	be	=	(5X/3	–	3x/5)	=	16X/15	Percentage	Error	=	(error/True	value)	x	100	=	[(16/15)	x	X/(5/3)	x	X]	x	100	=	64	%	Q.3:	If	20%	of	x	=	y,	what	is	the	value	of	y%	of
20	in	terms	of	x?	Solution:	Given,	20%	of	x	=	y	⇒	(20/100)	x	=	y	y%	of	20	=(y/100).	20	=	[(20x/100)	/	100]	x	20	=	4x/100	=	4%	of	x	Q.4:	Three	students	contested	an	election	and	received	1000,	5000	and	10000	votes,	respectively.	What	is	the	percentage	of	the	total	votes	the	winning	student	gets?	Solution:	Total	number	of	votes	=	1000	+	5000	+
10000	=	16000	The	student	who	won	the	votes	got	10000	votes	Hence,	the	percentage	will	be:	(10000/16000)	x	100%	=	62.5%	Q.5:	If	the	price	of	a	product	is	first	decreased	by	25%	and	then	increased	by	20%,	then	what	is	the	percentage	change	in	the	price?	Solution:	Let	the	original	price	be	Rs.	100.	New	final	price	=	120	%	of	(75	%	of	Rs.	100)	=
Rs.	[(120/100)	x	(75/100)	x	100]	=	Rs.	90	Therefore,	the	net	change	in	price	is	100	–	90	=	10.	Percentage	decrease	=	10%	Q.6:	The	value	of	a	washing	machine	depreciates	at	the	rate	of	10%	every	year.	If	its	present	value	is	Rs.	8748,	then	what	was	the	price	of	the	washing	machine	three	years	ago?	Solution:	Given,	Current	price	of	the	washing
machine	=	Rs.8748	The	price	of	the	machine	depreciated	at	the	rate	of	10%	every	year	Therefore,	the	price	of	the	washing	machine	three	years	ago	=	8748	÷	(1	–	10/100)3	=	Rs.	[8748	x	(10/9)	x	(10/9	)	x	(10/9)]	=	Rs.12000	Q.7:	For	a	student	to	clear	an	examination,	he	must	score	55%	marks.	If	he	gets	120	and	fails	by	78	marks,	what	is	the	total
marks	for	the	examination?	Solution:	Given,	the	mark	obtained	by	the	student	is	120	and	the	student	fails	by	78	marks	Therefore,	the	passing	marks	is	=	120+78	=	198	Let	us	consider,	the	total	marks	be	x	Then,	⇒	(55/100)	×	x	=	198	⇒	x	=	360	Q.8:	By	how	much	is	80%	of	40	greater	than	4/5	of	25?	Solution:	80%	of	40	=	80/100	×	40	⅘	of	25	=	⅘	×
25	Required	value	=	(80/100)	×	40	–	(4/5)	×	25	=	32	–	20	=	12	Q.9:	A	number	is	decreased	by	10%	and	then	increased	by	10%.	The	number	so	obtained	is	10	less	than	the	original	number.	What	was	the	original	number?	Solution:	Let	the	original	number	be	x	Final	number	obtained	=	110%	of	(90%	of	x)	=(110/100	×	90/100	×	x)	=	(99/100)x	Given	the
number	obtained	is	10	less	than	the	original	number.	x	–	(99/100)	x	=	10	Hence,	x	=1000	Q.10:	What	is	the	percentage	of	ratio	5:4?	Solution:	5	:	4	=	5/4	=	(	(5/4)	x	100	)%	=	125%.	Related	Articles	Practice	Questions	on	Percentage	What	is	25%	of	80?	What	is	the	percentage	of	50	paise	to	4	rupees?	Find	the	percentage	change,	when	a	number	is
changed	from	100	to	80.	50	is	what	percentage	of	500?	FACTS		AND		FORMULAE		FOR		PERCENTAGE		QUESTIONS	I.Concept	of	Percentage	:	By	a	certain	percent	,	we	mean	that	many	hundredths.	Thus	x	percent	means	x	hundredths,	written	as	x%.	To	express	x%	as	a	fraction	:	We	have	,	x%	=	x/100.	Thus,	20%	=	20/100	=	1/5;						48%	=	48/100	=
12/25,	etc.	To	express	a/b	as	a	percent	:	We	have,	ab=ab×100%	.	Thus,	14=14×100%=25%	II.	If	the	price	of	a	commodity	increases	by	R%,	then	the	reduction	in	consumption	so	as	not	to	increase	the	expenditure	is	R100+R×100%	If	the	price	of	the	commodity	decreases	by	R%,then	the	increase	in	consumption	so	as	to	decrease	the	expenditure
is	R100-R×100%	III.	Results	on	Population	:	Let	the	population	of	the	town	be	P	now	and	suppose	it	increases	at	the	rate	of	R%	per	annum,	then	:	1.	Population	after	n	years	=	P1+R100n	2.	Population	n	years	ago	=		P1+R100n	IV.	Results	on	Depreciation	:	Let	the	present	value	of	a	machine	be	P.	Suppose	it	depreciates	at	the	rate	R%	per	annum.
Then,	1.	Value	of	the	machine	after	n	years	=	P1-R100n	2.	Value	of	the	machine	n	years	ago	=	P1-R100n	V.	If	A	is	R%	more	than	B,	then	B	is	less	than	A	by	R100+R×100%					If	A	is	R%	less	than	B	,	then	B	is	more	than	A	by		R100-R×100%			What	percentage	of\(	\frac{8}{30}	is	\frac{1}{20}	\)	?	India's	Super	Teachers	for	all	govt.	exams	Under	One
Roof	Enroll	For	Free	Now	Given:	What	percentage	of	\(\frac{8}{30}\)	is	\(\frac{1}{20}\)	?	Calculation:	Let	x%	of	\(\frac{8}{30}\)	be	\(\frac{1}{20}\).	\(\Rightarrow	\frac{x}{100}	\times	\frac{8}{30}	=	\frac{1}{20}	\)	\(\Rightarrow	\frac{8x}{3000}	=	\frac{1}{20}	\)	\(\Rightarrow	8x	=	\frac{3000}{20}	\)	\(\Rightarrow	8x	=	150	\)	\(\Rightarrow	x	=
\frac{150}{8}	\)	\(\Rightarrow	x	=	\frac{75}{4}	\)	\(\Rightarrow	x	=	18.75	\)	∴	18.75%	of	\(\frac{8}{30}\)	is	\(\frac{1}{20}\).	India’s	#1	Learning	Platform	Start	Complete	Exam	Preparation	Daily	Live	MasterClasses	Practice	Question	Bank	Mock	Tests	&	Quizzes	Trusted	by	7	Crore+	Students	20%	of	a	number	is	210	more	than	20%	of	560.	What	is
the	number?	Given:	20%	of	a	number	is	210	more	than	20%	of	560.	Calculation:	Let	the	number	be	x.	20%	of	a	number	=	20/100	×	number	20%	of	x	=	20%	of	560	+	210	⇒	(20/100)	×	x	=	(20/100)	×	560	+	210	⇒	(1/5)	×	x	=	(1/5)	×	560	+	210	⇒	x	/	5	=	112	+	210	⇒	x	/	5	=	322	⇒	x	=	322	×	5	=	1610	∴	The	number	is	1610.	India’s	#1	Learning	Platform
Start	Complete	Exam	Preparation	Daily	Live	MasterClasses	Practice	Question	Bank	Mock	Tests	&	Quizzes	Trusted	by	7	Crore+	Students	What	percentage	of	\(\frac{7}{70}\)	is	\(\frac{1}{20}\)?	Given:	We	are	asked:	What	percentage	of	7/70	is	1/20?	Formula	used:	Percentage	=	(Part	/	Whole)	×	100	Calculation:	Let	the	percentage	be	x.	So	we	have:	x
=	(1/20)	/	(7/70)	×	100	Now	simplify:	x	=	(1/20)	÷	(1/10)	×	100	⇒	(1/20)	×	(10/1)	×	100	⇒	(10/20)	×	100	⇒	1/2	×	100	=	50	∴	The	percentage	is	50%.	India’s	#1	Learning	Platform	Start	Complete	Exam	Preparation	Daily	Live	MasterClasses	Practice	Question	Bank	Mock	Tests	&	Quizzes	Trusted	by	7	Crore+	Students	2%	of	5%	of	a	number	is	what
percentage	of	that	number?	Given:	2%	of	5%	of	a	number	is	what	percentage	of	that	number.	Calculation:	Let	the	number	be	x	(2/100)	×	(5/100)	×	x	⇒	(10/10000)	×	x	⇒	(1/1000)	×	x	⇒	0.001	×	x	⇒	0.1%	of	x	∴	The	correct	answer	is	option	(3).	India’s	#1	Learning	Platform	Start	Complete	Exam	Preparation	Daily	Live	MasterClasses	Practice	Question
Bank	Mock	Tests	&	Quizzes	Trusted	by	7	Crore+	Students	If	70%	of	\(\frac{2}{5}\)	of	a	number	is	126,	what	is	that	number?	Given:	70%	of	(2/5)	of	a	number	is	126	Formula	used:	Let	the	number	be	X	0.7	×	(2/5)	×	X	=	126	Calculation:	0.7	×	(2/5)	×	X	=	126	⇒	0.7	×	0.4	×	X	=	126	⇒	0.28	×	X	=	126	⇒	X	=	126	/	0.28	⇒	X	=	450	∴	The	correct	answer	is
option	(4).	India’s	#1	Learning	Platform	Start	Complete	Exam	Preparation	Daily	Live	MasterClasses	Practice	Question	Bank	Mock	Tests	&	Quizzes	Trusted	by	7	Crore+	Students	If	P	is	40%	less	than	Q,	then	Q	is	how	much	percentage	more	than	P?	Given:	P	is	40%	less	than	Q.	Shortcut	Trick	40%	=	2/5	So,	Q	is	2/(5-2)	×	100	=	2/3	×	100	=	66.66%
more	than	P.	∴	Q	is	66.66%	more	than	P.	Calculation:	Let,	Q	=	100y	So,	P	=	100y	×	(100	-	40)/100	=	100y	×	60/100	=	60y	Now,	(Q	–	P)/P	×	100	=	40y/60y	×	100		=	66.66%	∴	Q	is	66.66%	more	than	P.	Additional	Information	If	A	is	20%	less	than	B,	So,	B	is	20/(100	-	20)	×	100	=	20/80	×	100	=	25%	more	than	A	Similarly,	If	B	is	25%	more	than	A,	So,
A	is	25/(100	+	25)	×	100	=	25/125	×	100	=	20%	less	than	B.	India’s	#1	Learning	Platform	Start	Complete	Exam	Preparation	Daily	Live	MasterClasses	Practice	Question	Bank	Mock	Tests	&	Quizzes	Trusted	by	7	Crore+	Students	In	an	exam,	a	student	got	40	marks	and	still	failed	by	20	percent	marks.	If	the	passing	percentage	is	40	percent,	then	what
are	the	maximum	marks	of	the	exam?	Calculation:	Let	the	maximum	mark	is	x.	According	to	the	question	40	+	20%	of	x	=	40%	of	x	20%	of	x	=	40	x	=	200	Therefore,	the	maximum	marks	for	the	exam	are	200.	∴	Option	3	is	the	correct	answer.	India’s	#1	Learning	Platform	Start	Complete	Exam	Preparation	Daily	Live	MasterClasses	Practice	Question
Bank	Mock	Tests	&	Quizzes	Trusted	by	7	Crore+	Students	A	number	is	first	decreased	by	20%	and	then	increased	by	15%.	The	number	so	obtained	is	64	less	than	the	original	number.	The	original	number	is:	Given:	A	number	is	first	decreased	by	20%	and	then	increased	by	15%.	The	number	so	obtained	is	64	less	than	the	original	number
Calculations:	Let	the	number	be	100x	Number	after	decrement	of	20%	=	100x	×	(100	-	20)/100	⇒	100x	×	80/100	=	80x		Number	after	15%	increment	=	80x	×	(100	+	15)/100	⇒	80x	×	(100	+	15)/100	=	92x	According	to	the	question	100x	-	92x	=	64		(difference	of	the	original	and	new	number)	⇒	8x	=	64	⇒	x	=	8	Original	number	=	100x	=	800		∴	The
correct	choice	is	option	2.	India’s	#1	Learning	Platform	Start	Complete	Exam	Preparation	Daily	Live	MasterClasses	Practice	Question	Bank	Mock	Tests	&	Quizzes	Trusted	by	7	Crore+	Students	If	200%	of	k	-	(k	+	2)%	of	50	=	k,	then	what	is	the	value	of	k?	\(\frac{2}{3}\)\(\frac{100}{149}\)21	Given:	200%	of	k	-	(k	+	2)%	of	50	=	k	Formula	used:	A%	of
B	=	(A/100)	×	B	Calculation:	⇒	200%	of	k	-	(k	+	2)%	of	50	=	k	⇒	(200/100)	×	k	-	(k	+	2)/100	×	50	=	k	⇒	2k	-	0.5(k	+	2)	=	k	⇒	2k	-	0.5k	-	1	=	k	⇒	1.5k	-	1	=	k	⇒	1.5k	-	k	=	1	⇒	0.5k	=	1	⇒	k	=	1/0.5	=	2	India’s	#1	Learning	Platform	Start	Complete	Exam	Preparation	Daily	Live	MasterClasses	Practice	Question	Bank	Mock	Tests	&	Quizzes	Trusted	by	7
Crore+	Students	The	price	of	sugar	is	decreased	by	25%	and	due	to	this,	a	family	purchase	12	kg	more	sugar	than	earlier	and	the	expenditure	decreases	by	7%.	Find	the	increased	consumption.	Suppose	the	initial	price	=	Rs.	x	per	kg	Suppose	the	family	spends	Rs.	100	initially	and	this	comes	down	to	Rs.	93;	∴	[93/0.75x]	–	[100/x]	=	12	⇒	124/x	–
100/x	=	12	⇒	24/x	=	12	⇒	x	=	2	∴	Increased	consumption	=	100/2	+	12	=	62	kg	India’s	#1	Learning	Platform	Start	Complete	Exam	Preparation	Daily	Live	MasterClasses	Practice	Question	Bank	Mock	Tests	&	Quizzes	Trusted	by	7	Crore+	Students	(120%	of	675)	+	92	=	(?	%	of	1240)	+	716	Formula	Used:	X%	=	X/100	Calculation:	(120%	of	675)	+	92
=	(?	%	of	1240)	+	716	⇒	\(\frac{120}{100}	\)×	675	+	92	=	\(\frac{?}{100}	\)×	1240	+	716	⇒	810	+	92	=	12.4	×	?	+	716	⇒	902	-	716	=	12.4	×	?	⇒	186/12.4	=	?	=	15	∴	The	correct	answer	is	15	India’s	#1	Learning	Platform	Start	Complete	Exam	Preparation	Daily	Live	MasterClasses	Practice	Question	Bank	Mock	Tests	&	Quizzes	Trusted	by	7	Crore+
Students	The	price	of	an	article	decreased	by	8%	and	then	increased	by	12%.	What	is	the	approximate	effective	percentage	change	in	price?	Given:	The	price	of	an	article	is	first	decreased	by	8%	and	later	increased	by	12%.	Formula	used:	Percentage	in	change	=			a	+	b	+	(ab/100)		Calculation:	12	-	8	-	(8	×	12)/100	=	4	-	0.96	=	3%	(approx.)	It	means
the	price	of	the	book	increased	by	3%.	∴	The	price	of	the	article	increased	by	3%.	India’s	#1	Learning	Platform	Start	Complete	Exam	Preparation	Daily	Live	MasterClasses	Practice	Question	Bank	Mock	Tests	&	Quizzes	Trusted	by	7	Crore+	Students	What	will	be	the	value	of	75%	of	480	+	48%	of	750?	India’s	#1	Learning	Platform	Start	Complete
Exam	Preparation	Daily	Live	MasterClasses	Practice	Question	Bank	Mock	Tests	&	Quizzes	Trusted	by	7	Crore+	Students	(980	of	12%)	-	(450	of	?	%)=	227	of	30%	Formula	Used:	X%	=	X/100	Calculation:	⇒	980	of	12%	=	\(\frac{980\times12	}{100}=117.6\)	⇒	227	of	30%	=	\(\frac{227\times30	}{100}=68.1\)	⇒	117.6	-	\(\frac{450\times?	}{100}\)=
68.1	⇒	117.6	-	68.1	=	\(\frac{450\times?	}{100}\)	⇒	\(\frac{49.5\times100	}{450}\)	=	?	=	11	∴	The	correct	answer	is	11.	India’s	#1	Learning	Platform	Start	Complete	Exam	Preparation	Daily	Live	MasterClasses	Practice	Question	Bank	Mock	Tests	&	Quizzes	Trusted	by	7	Crore+	Students	If	80%	of	A	=	50%	of	B	and	B	=	x%	of	A,	then	the	value	of	x	is	
Given:	80%	of	A	=	50%	of	B	and	B	=	x%	of	A	Calculation:	80%	of	A	=	50%	of	B.	⇒	\(\dfrac{80}{100}\)	A	=	\(\dfrac{50}{100}\)	B	⇒	8A	=	5B	⇒	\(\dfrac{A}{B}	=	\dfrac{5}{8}	\)	∴	B	=	\(\dfrac{8}{5}	\times	100\)	=	160		So,	the	value	of	x	is	160.	India’s	#1	Learning	Platform	Start	Complete	Exam	Preparation	Daily	Live	MasterClasses	Practice	Question
Bank	Mock	Tests	&	Quizzes	Trusted	by	7	Crore+	Students
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